
Problem Set C1
.

Kuba Skmwkowsti



① (A) ⇒ (B) This is just integration by
(B) =) ( C ) parts and using compo-d- supp.

or boundary value .
For example

Sau - e + Sen- ie = 50£ e
r or or

② Existence for CC) : the widest class
.

Uniqueness for IA) : the smotherdass ,

In PDEs we aim at finding some balance
between the first and the second .

③ (A) ⇒ ( at )

lfueÑ) and a- 0 on or

the a trace of u is 0
. then U c- HYMN HM

- Du = f a.e. follows from - An = f everywhere



(B) ⇒ #-) similar
.

④ 43×-1<=3 ( BH)

CB 't) u c- HIM , SDu.DE = Sfl keep
457 uc-HIcrl.fm - " 4=59-4 V-cec-th.cn

.

If leeci ⇒ 6€14 ? by so B**⇒B* .

If YEH:(rl , there is ten→ 4 in H'Crl -

In particular , Jen -17km → 5th . DY

f f ten → 51-6
.

⑤ uc-tlkrlnhfthsfpu.ve =/ f- 4Vr
Yee

But true c-HUI
,
tie c-CT . Using olef .

d- weak der -FAU - 4=51-6 i.e. -Au=f
~

~
Q-e

.



⑥ Ue simply integrate by parts togolftin - the + S can u- E + f 61×1. u-4=0 .


